


20.3+0.9=
3x5.2=

L

4.8x19=

2.2x16.1=

) izt

12x (20.62 —19.94)

(/) &)

11x-9=2x+180

172-7.5= 10x7.8=
2x18.7 = 13x0.6 =
7.1x11.8=
39%x19=
0.9%x20.2+0.73

7(6x—7)=8x+53

FAEGAT SN2 H)



17.3+7.46 = 8.79-0.19 = 4.7x20=

18.2x3= 8.8x5= 0.6x11=
1.1x17.5= 17.8x0.8=
109x1.9= 13.6x2.3=

) izt

24x18.4-8.13 0.5%x(14.2x5.9)

(/) &)

2x+8-3=10 312-79x =66x —123

FAEGAT SN2 H)



8.73-4.68 =
18x0.8=

L

2.9%x10.7 =

6.6x7.2=

) izt

5% (20.64 —9.48)

(/) &)

8x+5=4x+45

7.4+14.98 = 3x19.3=
7x5.6= 04x8.5=
12.7x3.9=
8.5x10.1=
2.9x10.8—-4.88

15(3x — 6) + 65 = 290

FAEGAT SN2 H)



18.89-6.14 = 2.86+0.07 = 8x10.6 =

0.3x94= 153%x2= 0.05x7.1=
0.54x13.1= 0.17x7.9 =
18.1x0.67 = 1.59x7.6 =

) izt

(3.94+531)x9.2 5.9x(0.6x11.5)

(/) &)

1.7+x=4.1-2x 1.3+5(2x+3)=43.8

FAEGAT SN2 H)



13.67+15.11= 13.83-7.12 = 4x1.92 =
18x0.2 = 7x3.2= 5x5.01=
0.4x7.88 = 32x15.7 =

2.9x3.88= 6.1x5.01=

) izt

7.87+0.2-1.03+0.2 14.75+03-2.51+0.3

(/) &)

3x-32-x=10 1.5x-11x2=275

FAEGAT SN2 H)



9.71+7.09 =
6.3x0.05 =

L

5.5x%0.68 =

1.9x7.69 =

) izt

88.06x4.52+4.52x11.94

(/) &)

2x-0.6+4x=84

159-11.26 = 11.5x2=
10.1x8 = 0.29x40=

5.1x5.94 =

8.8x0.57 =

19.15x85.67 —-12.15x85.67

64—5(x—1.2) =34

FAEGAT SN2 H)



10.86-5.15 =
3x1.11=

L

53x0.47 =

0.14x8.4=

) izt

1.08x1.74+1.08 x48.26

(/) &)

l.LIx+3=1.6x-4

0.14+9.38= 200x3.1=
9%x93= 8x2.5=

1.6x17.7 =

39x7.62=

0.64x1.25x1.25

1.2x3+6x=24

FAEGAT SN2 H)



19.67-9.19 = 3.1+2091 = 3x6.8=

8x5.2= 0.03x16.3= 0.17x0.7=
4.8x8.03= 1.2x19.1=
6.9x6.43 = 18.5x2.7 =

) izt

9.2x2214+1.2%x2.21-2.21x0.4 8.7+(4.5-1.3+0.9)x(6.3-2.5)-2.59

(/) &)

Tx+20=74-2x 9+2(3x+3)=19.2

FAEGAT SN2 H)



5.67+1.82= 13.22-11.1= 3.7x300=
0.6x13= 53%x04= 5.6x0.02 =
5.33x43= 8.6x9.73 =

0.78x12.4 = 1.4%x203=

) izt

(505 —49%35+5)+8+0.75 2.01+(30.6+25.8)+3x1.3

(/) &)

8x+5=27 2(x—2)=50-3x

FAEGAT SN2 H)



4.66+11.26= 20.61-13.53 = 21x7=

4.5%x20= 03x19= 0.8x1.25=
20.1x3.5= 0.36x6.5=
2.5%x3.14= 92x6.6=

) izt

(25-10.5+21)%x0.3+45.9 609 —(4.5x18—-47.6)x15

(/) &)

3x+53-x)=10x 3(x—-2)+4x=78

FAEGAT SN2 H)



0.7x4.2= 5x1.23 = 1.5+03=
37+0.37 = 35+0.7= 18+0.18 =
29.7+99= 21.7+62=
455+6.5= 154+0.8=

) izt

200+(36.7-81.9+7)x125 37.5x8+0.25+4x11

(/) &)

4x03x—-12=24 2(10-2x)=14

FAEGAT SN2 H)



3.5x4= 60.4x4 = 30410 =

324+2= 144 +8= 0.98+4.9=
341+6.2= 264 +6.6=
36+0.64 = 49+0.56 =

) izt

469 —(32x15.5+8+8)x5.5 13%(4.1+35.1+9) + 0.5 144

(/) i)

23+5x=T7T+x 2(6x—-2)—2x=3.6

FAEGAT SN2 H)



4x0.81= 11x0.5= 53+5=
12.26+2 = 94+047= 0.75+1.5=
35.1+3.9= 2.34+0.16 =
024+25= 5+0.16 =

) izt

55.5—(5.3+6.69)+11+10.9 (28.3-7.9)+(1.5x4)+9.9

(/) &)

4(x-2-12=8.8 19-2x=87-10x

FAEGAT SN2 H)



6x12.3= 0.6x9.5= 3.6+12=

03+15= 144 +8= 16.5+11=
18+4.8= 3.5+025=
15.54+4.2 = 1224+09=

) izt

0.2% (82— 66)x (25.5—18) + 0.5 (50.5-4.9%x35+5)+2+0.75

(/) &)

29+1.5x—4=43 6%(9.5-3.25)+5x =50

FAEGAT SN2 H)



04x72= 27x02= 2.1+2=
2.5+50= 4.8+0.03= 30.6+0.6=
9+0.24= 36+9.6=
1.775+7.1= 21.08+34 =

) izt

71.5-40+25-(21.5-17.5) 0.9+9.94+99.9+999.9+199.9

(/) &)

17x—4.5-2x=1.5 5% (9 —4x)+2x =9

FAEGAT SN2 H)



20x3.6= 6.3x8 = 25.2+10=

36.3+11= 255+5= 2412+12=
26.23+43= 39+5.2=
2.03+29= 20.93+0.23 =

) izt

66.6+(33.3-99 +30)x 5 [(79—15)x33] =11+ 79

(/) &)

1.3x-24=41 7x+16.5=24+5x

FAEGAT SN2 H)



(NEE

4x85= 9x73= 49+7=
6.6 -33= 284-+04= 7.61+0.01=
341+6.2= 11+-0.88=

10.07+19= 56.4+0.12 =

) izt

46.5+103—(77-52)x3.3 [52+(77 x4 —160) +4]+9x3.1

(/) &)

4(x+7)-5=53 2.5(x+4)=32.5

FAEGAT SN2 H)



3x20.1= 17x04 = 52+4=

493+10= 0.7+35= 42.6+3=
4.16+0.64 = 30.94+9.1=
33.08 -8 = 72.9+0.27 =

) izt

4.1x384+4.9x41+87x5.9 (12.5+84+1.6x3)+100+4.3

(/) &)

16x — 7x =108 5(x+3)—7.7=14.2

FAEGAT SN2 H)



5x24= 3x6.9= 34+17=
15.5+31= 84+8= 35.04+2=
42.7+14 = 11.4+38=
40.5+54= 49 +0.56 =

) izt

0.7x1.1x13+0.4+25 (630+35+20)x(16-7.9)

(/) &)

15-3x=4x+1 9%x-6.7=99—-x

FAEGAT SN2 H)



7x11.6= 6x5.4= 54+0.06=

9.3+0.01= 8.2+20= 5.6+8=
17.63+8.6 = 6.9+46=
36.1+9.5= 2.666 +6.2 =

) izt

225.84379-5+44.6-17.9 0.8x7.34+0.8x1.1-0.8x4.4

(/) &)

30-2x-18x=11 3x+09=48-1.5

FAEGAT SN2 H)



5.5+11= 332x3= 39.67-12=
36.32+48.3= 20%x2.49 = 28.8+12=
0.41x69= 88x0.35=

36+2.5= 110.2+29=

) izt

8x (30 —16)x (49.5—45) + 2 [(103.8 —70)x 15]+ 3+ 40.36

(/) &)

x+4(x-5)=15 x—-72=3.6-0.8x

FAEGAT SN2 H)



38+2= 3x9.1= 18.36+4.9 =

4.6x0.03= 20-0.95= 9.6 -40 =
4.3x3.02= 12.1x0.33 =
56.82+6= 1054 +1.7=

) izt

135—(24%7.2+6+6.2)x3.3 7.9%[500+(9+17.5+5)]+6

(/) &)

1+23-x)=x+7 2x+3)=3(x+1)

FAEGAT SN2 H)



13.4-236= 5.71+14.6 = 6x2.7=
3x18.5= 0.3+30= 2.4+0.06 =
0.54x1.9= 68x5.1=

19.63+1.3= 72+1.6=

) izt

7.5+189—(9.8—6.5)x 4.5 0.125%32x0.25%33

(/) &)

12-(3x—4)=x 15x + (30 — 6x) = 39

FAEGAT SN2 H)



9x53= 5x17.2= 159+3=

324+8= 3.75+13.25= 481-19=
1.39%x2.1= 4.5x120=
23.8+0.28= 12.78+0.9 =

) izt

146 +(13.5-9.9)+2-43 3.6x31.44+31.4%x6.4+12.5x6.4

(/) &)

15-3(x—3)=3x 2+3(x-26)=92—x

FAEGAT SN2 H)



1.88-0.65= 9.12+16.78 = 14.1x0.5=
4.5x8 = 84+3= 30.6+3=
3.15x21= 4.8%x2.25=

27.84+8.7= 2982 +355=

) izt

578.47 —4.62—78.47-3.38 (91.4+6.6)+[9.5—(15+25+1.9)]

(/) &)

18— (3x—6)=x Ax+1)=3(x—1)=2x+3

FAEGAT SN2 H)



549-339= 36.8+2.5= 4x1.25=

0.07x130= 384+1.2= 17.6 +20 =
71x5.8= 30.6x6.1=
44.52 +106 = 2210+6.5=

) izt

7.37x12.5x0.15x16 5%x(81+09+33+1.1)-75+5

(/) &)

3x-22+x)=1 13-2(2x-3)=5-(x-2)

FAEGAT SN2 H)



11.7+87.6 =
93+310=

L

370x3.6 =

174.8+23 =

) izt

55.3+29.7+44.7-0.7

(/) &)

6x—(4-x)=17

9.64-1.5= 1.5x15=
55.15+5= 6x10.3=

51.7x17 =

280.8+3.6=

[1.04+(2.9-2.1)+5]x6+11

Tx—(3x+2)=22

FAEGAT SN2 H)



6.18+2.58 = 681-99.7 = 3.1x9=

116 x0.6 = 1.69+1.3= 85+17=
71x3.15= 5.1x103 =
436.8+7.8= 209+5.5=

) izt

(70 + 40+ 0.5% 66) + 50 +33.7 17x[528 +(22+5.5+0.5)]

(/) &)

5x+5=9(x-3) 2(4x-6)=x+16

FAEGAT SN2 H)



7.84+2.52= 80.9-19.3= 12.5x80 =
0.12x7 = 7.5+0.15= 7.1+0.71=
45x4.3= 39x40.3 =
464.1+-091= 63.6+53=

) izt

113.3+77—(64-22)x1.5 48+ (4.1x2.2-5.02) +12.5

(/) &)

(18+7)x—69=13x +87 66+(3x—x) =228 —x

FAEGAT SN2 H)



122 +13.8= 97.6-49 = 30x4.1=

33.6x5= 1.68+21= 275+2.5=
432x15= 23.5x7.4=
313.5+95= 325+6.5=

) izt

9.9%x9.9+1.99 35.6 +[6.43+(19x21-279)+40]

(/) &)

(99 +2)x —195 = 51x + 305 27 +(9x —7x) =307 — 2x

FAEGAT SN2 H)



&3] 1:

212 9.7
156 374
9.12  83.78
3542 741
816 1891
21 3
73] 2:
2476 8.6
546 44
1925 1424
2071 31.28
36.03  41.89
25 3
73] 3:

405 2238
144 392
31.03  49.53
4752 85.85
558 26.44
10 7
3] 4:
1275 293
282 306
7.074 1343
12.127  12.084
85.1  40.71
0.8 2.75

153\
— ) [ e
3] 5:
78 28.78 6.71 7.68
7.8 3.6 22.4 25.05
3.152 50.24
11.252  30.561
342 40.8
6.6 33

23] 6:

94 16.8 4.64 23
6.6 0.315 80.8 11.6
3.74 30.294
14.611 5.016
452 599.69
1.5 7.2

&3] 7.

57.9 5.71 9.52 620
34 3.33 83.7 20
2491 28.32
1.176 ~ 29.718
54 1
14 34

23] 8:

1048  24.01 20.4

84.8 41.6 0.489  0.119
0.355 38.544 22.92

44367 49.95

22.1 21.69

6 0.7

AFERITE/NET 2 AU



#3] 9:

7.49 2.12
7.8 2.12
22919 83.678
9.672 28.42
21 26.45
2.75 10.8
3] 10:
15.92 7.08
90 5.7
70.35 2.34
7.85 60.72
53.25 108
1.25 12
%3] 11:
2.94 6.15
100 50

3 3.5

7 19.25
1000 3300
30 1.5
%3] 12:
14 241.6
16.2 1.8
5.5 4
56.25 87.5
84 64
13.5 0.76

1110
0.112

14.7

100

3.04
0.2

%3] 13:
3.24 5.5
6.13 20

9 14.625
0.096 31.25
554 13.3
4.5 8.5
%3] 14:
73.8 5.7
0.02 1.8
3.75 14
3.7 13.6
48 8.85
12 2.5
ﬁs.l 15:
2.88 0.54
0.05 160
37.5 3.75
0.25 0.62
52.5 1310.5
04 2
&3] 16:
72 504
3.3 5.1
6.1 7.5
0.07 91
11.1 271
50 3.75

TR FE N2 H)

1.06
0.5

0.3
1.5

1.05
51

2.52
2.01



ﬁs.l 17:
34 65.7
0.2 71
5.5 12.5
0.53 470
67 116.9
7.5 9
ﬁs.l 18:
60.3 6.8
493 0.02
6.5 34
4.135 270
870 6
12 1.38
4.3 19:
12 20.7
0.5 1.05
3.05 0.3
7.5 87.5
1.001 307.8
2 1.66
3] 20:
81.2 324
930 041
2.05 0.15
3.8 0.43
285.4 3.2
0.95 0.8

0.7
761

1.3
14.2

0.2
17.52

90
0.7

%3] 21:

0.5 99.6
84.62 49.8
2.829 30.8
144 38
252 209.36
7 6
#3] 22:
1.9 27.3
0.138 19.05
12.986 3.993
9.47 6.2
19.5 322
0 3
3] 23:
11.04 20.31
55.5 0.01
1.026 346.8
15.1 45
181.65 33

4 1
#.3] 24:
47.7 86
4.05 17
2.919 540
85 14.2
143.5 394
4 42

TR FE N2 H)

27.67
24

23.26
0.24

16.2
40

5.3
291



3] 25:

1.23 25.9 7.05

36 2.8 10.2
66.15 108

3.2 0.084

492 14

6 4

&3] 26:

2.1 393 5
9.1 3.2 0.88
411.8  186.66

042 340

2211 585

5 4

&3] 27:

99.3 8.14 22.5
0.03 11.03 61.8

1332 878.9
7.6 78
129 48.8
3 6

3] 28:
876  581.3
69.6 1.3
223.65 5253
56 3.8
1407 272
8 4
&3] 29:
1032 61.6
0.84 50
1935 15717
510 12
1273 48.32
13 54
&3] 30:

26 48.6
168 0.08
6480  173.9
3.3 50
100 45.03
10 70

TR FE N2 H)

27.9
0.5

1000
10

123
110



